ey

Geometry 1 Unit 4:Triangle Congruency Day 7 Warm up G-C0.10
Triangle Sum Theorem

WARM-UP

3. Inthediagram of JE4 below, mo/E4 = 90 and
meEAS = 48 ki is given thar m2EMS = 59.

1. nUABC, mLA=x,mLB=2x+2, and
mZ C = 3x + 4, What is the value of x?

= What is m 2/5M?
B. 31 S
C.59
D. 61
M
58
2. Juliann plars on drawing ABC, where the
measure of <4 canrange from 50° to 60° and the
measure of <B can range from 90° to 100°. Given
L] 0 _I 48.
these conditions, what is the comrect range of E A
measures possible for 2C7
0° to 40° A 163
B 3010 50° B.121

C. 80° to 50° @
D. 120° to 130°

WARM-UP
3, Inthediagram of JEA below, moJ/EA = 90 and

1. In4BC,msd =x, m«B = 2x + 2, and
meEdT = 48 Itis given that m<EMS = 59,

m2C = 3x + 4. What is the valze of x?

¥ i ?
A 79 What is m2/5M?
B.31
C.59 J
D. 61
M
2. Juliann plans on drawing 4BC, where the 58
measure of 24 canrange from 50° to 60° and the
measure of ZB can range from 90° to 100°. Given
these conditions, what is the comect range of B 48°
measures possible for 2C? . A
A, 20° 10 40°
B. 30° to 50° et
C. 80° to 90° C.42

D._120° 10 130° D 17



